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AT A& / General Instructions:

1. This paper consists of four sections.
Section - A Reading- 20 marks
Section-B  Writing - 20 marks
Section - C  Grammar - 15 marks
Section - D Literature - 25 marks
2. Read the questions carefully and attempt all the questions.

3. Numbers to the right indicate the marks.

SECTION-A (READING-20 MARKS)
I. Read the passage. Then answer the questions below.

For two months, | have been trying to decide who makes the best ice cream. | have narrowed

it down to my four favourite manufacturers: Randolph Farms, Goodies, Disco and Twinkle.

Let's start with Randolph Farms. Randolph Farms makes very good ice cream. They have lots
of different flavours, but this doesn't really matter to me. That's because | always get coffee
flavour. They make the best coffee ice cream in the world. I've never had hot coffee (the
drink) but people tell me that Randolph Farms’ coffee ice cream tastes just like the real thing.
Also, Randolph Farms uses all natural ingredients to make their ice cream. This is a good
idea, I think.

Second, we have Goodies. Goodies makes excellent ice cream. Like Randolph Farms,
Goodies uses all natural ingredients. They only make three different flavours—strawberry,
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vanilla and chocolate— but they make them very well. The strawberry flavour is amazing.
Every bite of it reminds me of the strawberries that | used to pick behind my old house. The
vanilla is wonderful. It is very smooth and has a refreshing, creamy taste. The chocolate is
outstanding. It is made with real cocoa beans from Bolivia. | didn't know where Bolivia was,
so | decided to look for it on a map. After hunting awhile, | discovered that it is in South
America! That's a long way to go to get cocoa, so it must be good. | would say that the only

drawback to Goodies ice cream is that they only make three different flavours.

Third, we have Disco. Disco ice cream is okay. They don't have many good flavours.
Actually, the only Disco flavour I like is Bubblegum. It is vanilla ice cream with little chunks
of bubblegum in it. After you eat the ice cream, you can blow bubbles with the gum. That's

pretty fun.

Finally, there is Twinkle. Twinkle ice cream is mediocre. The only good thing about Twinkle
is that it is relatively inexpensive. You can buy a whole carton of twinkle ice cream for $4.50.

That's only two weeks' allowance for me.
Answer the questions. (8x1=8)

1. If the author wanted to get a scoop of coffee ice cream, where would he or she

probably go?
A) Randolph Farms B) Goodies C) Disco D) Twinkle
2. Choose the word that implies ‘average in quality’.
A) inexpensive B) allowance C). mediocre
3. According to the passage, the author likes Randolph Farms’ ice cream because it
. is all natural. I1. is made in Bolivia I11. comes in many flavours
A) I only B)landllonly C)llandIllonly D)1, Il,and Il
4. In paragraph 3 the author writes, "That's a long way to go to get cocoa, so it must be
good.” Using this information, we can understand that the author believes that
A) Goodies loses money on sales of chocolate ice cream
B) Bolivia makes the best cocoa in the world
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C) things that are hard to get must be of high quality
D) cocoa from the United States is not very good
5. According to the passage, the author likes Disco ice cream because it
A) is relatively inexpensive B) has bubblegum in it
C) is made in Bolivia
6. According to the author, what is the only drawback to Goodies ice cream?
A) cheap ingredients B) expensive price
C) mediocre quality D) a lack of flavours
7. How much money does the author receive in his or her weekly allowance?
A) $2.25 B) $4.50 C) $9.00
8. According to the passage, how is Randolph Farms’ ice cream different from Goodies?
A. Randolph Farms has many different flavours and Goodies has only three flavours.
B. Randolph Farms uses all natural ingredients and Goodies does not.
C. Randolph Farms is very expensive and Goodies is not.
Il. Read the passage. Then answer the questions below.

When you imagine the desert, you probably think of a very hot place covered with sand.
Although this is a good description for many deserts, Earth’s largest desert is actually a very
cold place covered with ice: Antarctica. In order for an area to be considered a desert, it must
receive very little rainfall. More specifically, it must receive an average of less than ten
inches of precipitation—which can be rain, sleet, hail, or snow—on the ground every year.
Antarctica, the coldest place on earth, has an average temperature that usually falls below the
freezing point. And because cold air holds less moisture than warm air, the air in Antarctica
does not hold much moisture at all. This is evident in the low precipitation statistics recorded
for Antarctica. For example, the central part of Antarctica receives an average of less than 2
inches of snow every year. The coastline of Antarctica receives a little bit more—between
seven and eight inches a year. Because Antarctica gets so little precipitation every year, it is
considered a desert.
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When precipitation falls in hot deserts like Sahara, it quickly evaporates back into the
atmosphere. The air over Antarctica is too cold to hold water vapour, so there is very little
evaporation. Due to this low rate of evaporation, most of the snow that falls to the ground
remains there permanently, eventually building up into thick ice sheets. Any snow that does
not freeze into ice sheets becomes caught up in the strong winds that constantly blow over
Antarctica. These snow-filled winds can make it look as if it is snowing. Even though

snowfall is very rare there, blizzards are actually very common in Antarctica. (4x1=4)

1) Precipitation is

A) moisture in the air that falls to the ground.
B) any type of weather event.
C) weather events that only happen in very cold areas.
D) ablizzard that occurs in Antarctica.
2) Which one of the following phenomena can be precipitation?
A) wind blowing B) rain falling C) river flowing
3) According to the final paragraph, any snow that falls over Antarctica
I. becomes part of the Antarctic ice sheet
I1. is blown around by strong winds
I11. evaporates back into the atmosphere
A)lonly B)landllonly C)lland Il only D) I, 11, and I
4) The word ‘blizzard’ refers to
A) Storm with heavy wind and snow C) Storm with rain and wind
B) Snowfall
5) Write the incidents that happen due to the low rate of evaporation in Antarctica. (2)
6) Write some examples of precipitation. (Paragraph 1) (2 marks)

7) Write the differences between hot desert and Antarctica. (cold desert) (2 marks)
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No. Differences in Hot desert Cold desert
( Antarctica)

1. Evaporation a.
2. Temperature b.
8) Why is Antarctica considered a desert? (2 marks)

SECTION-B (WRITING -20 MARKS)

I11. You have found a purse lying in one of the lawns of your school. Write a notice
asking the owner of the purse to contact you. (5 marks)

IV. Write a letter in about 100 words to invite your friend for a vacation. (7 marks)
V. With the help of the given outlines, develop a readable story and give a suitable title. (8)

A hungry fox — saw a crow with a piece of meat in its beak. Fox thought of a plan — praised
the crow — the crow listened — felt very happy — fox requested the crow to sing a song —

foolish crow very pleased — began to sing — the piece of meat fell down — Fox picked up — ran

away.
SECTION-C (GRAMMAR 15 MARKYS)
V1. Fill in the blanks with the present progressive tense. (2x1=2)
1. 1 (study) in Grade 6.
2. We (play) a board game.
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VI11. The following passage has not been edited. There is an error in each line against which a
blank is given. Write the incorrect word and the correction in the space provided.

(4x%2 =2)
Incorrect Correct
While making popcorns, cover the bottom (@)
of the pan with cook oil. Put (b)
the pan in the gas stove. Usually, (c)
gas stoves heat quick and evenly . (d)

VI11. Punctuate the following sentences and write whether they are exclamatory

or interrogative sentences. (2x1=2)
1) Wow, what an intelligent man he is

2) Do you like to read comic books

IX. Add a suitable suffix with the word given in the bracket and complete the sentences.
1. Your party was the most (success) __ party | had ever been to. (3x1=3)
2. Try to be more (friend) when you talk to them.
3. It's very fragile! Handle it (careful)

X. Rearrange the following words/phrases to form meaningful sentences. (3x1=3)
1. the garbage / dispose of / properly / Please
2. come from / Where / did / all these letters/?
3. my friend / | have received / an email / from

XI. Fill in the blanks with suitable words. (3x1=3)
1. Everything thatyoutolduswas _ (write/ right).
2. lknowthis __ (route / root) really well. But this way is too lengthy.

3. The little boy (threw/ through) the ball over the wall.
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SECTION-D (LITERATURE -25 MARKY)
XIl. a) Read the following lines from the poem and answer the questions given below.
“Ha-ha” laughed the Fox. “And now you know, (4x1=4)
Ignore sweet words that make you glow.
Pride, my friend, is rather unwise;
I'm sure this teaching is quite a surprise.”

1. Which one of the following words can be suitable for the phrase “sweet words that

make you glow”?
a) motivation b)) flattery c) encourage

2. Who is the speaker?

3. ltisnot (wise / unwise) to be too proud of oneself.
4. learnt a lesson in this poem.
b) Read the following passage and answer the question. (4x1=4)

“He spent all his time to learn about the magic potion. People cheated him often, promising
to tell him about it, but he did not give up. His wife, Madhumati, was tired of this and also
worried because she saw how much money Rama Natha was spending. She was sure that

soon they would be without money.”
Answer the following questions.
1. “He spentall his .....”
‘He’ refers to
2. Why was Madhumathi worried?
3. Say whether the following statements are true or false.
1. People helped him to learn about the magic potion.

2. Madhumathi helped Rama Natha while he was learning about the potion.
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XI11. Answer (any six) the following questions in 30-40 words. (6x2=12)

1. Give one reason why the man and his wife were not able to fall asleep.(Rama to the
Rescue)

2. Why did Gajaraj not eat his food? (The Unlikely Best Friends)

3. Why does the speaker ‘want to do more’ for her friend in the poem ‘A Friend’s

Prayer’?
4. What happened when Mario sat on the chair for the first time? (The Chair)
5. Why do you think Buntee licked the farmer's hand? ( The Unlikely Best Friends)
6. Why does the Raven forget that his voice is just a croak? (The Raven and the Fox)
7. What did the thief wish would happen in the story ‘Rama to the Rescue’?
XIV. Answer the following questions. (1x 5=5)

1. Eventually, Rama Natha gained money and gold in the story of ‘A Bottle of Dew’.

Do you think the ways / ideas that he used to earn money are correct? Explain it.
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General Instructions:-
1. This question paper consists of four sections A, B, C and D.
Section- A Reading - 20 Marks
Section -B Writing - 20 Marks
Section -C Grammar - 15 Marks
Section -D Literature - 25 Marks
2. Read all the questions carefully and attempt all the questions.
3. Numbers to the right indicate the marks.
4. All the questions of that particular section should be in the correct order.
5. Do not write anything in the question paper.

SECTION A-READING (20 MARKYS)

Q.1 Read the following passage given below. (8 marks)

From far out in space, Earth looks like a blue ball. Since water covers three-fourths of the
Earth's surface, blue is the colour we see most. The continents look brown, like small islands
floating in the huge, blue sea. White clouds wrap around the Earth like a light blanket. The
Earth is shaped like a sphere, or a ball. It is 25,000 miles around! It would take more than a year
to walk around the whole planet. A spaceship can fly around the widest part of the sphere in
only 90 minutes.

Even though spaceships have travelled to the Moon, people cannot visit the Moon without
special suits. The Moon has no air or water. Plants and animals can't live there either.
Astronauts first landed on the Moon in 1969. After that, there were six more trips to the Moon.
They brought back Moon rocks, which scientists are still studying. There are holes, or craters,
all over the Moon's surface. Scientists believe that meteorites smashed into the Moon millions
of years ago and formed the craters.

The Sun is the closest star to Earth. A star is a hot ball of burning gas. The Sun looks very big
because it is so close. But the Sun is just a medium-sized star. Billions of far-away stars are
much bigger than our Sun. The burning gases from the Sun are so hot that they warm the Earth
from 93 million miles away! Even though the Sun is always glowing, the night here on Earth is
dark. That's because the Earth rotates, or turns around, every 24 hours. During the day, the Earth
faces the Sun. Then we see light. During the night, the Earth turns .away from the Sun. Then it
faces the darkness of space. Each day we learn more about the Earth, the Moon, and the Sun.

1.1 Based on the reading of the above passage, answer the following questions.
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(1 x 8=8 marks)

1. Why is blue the colour we see most when looking at Earth from outer space?

(a) Because most of the Earth is covered in land.
(b) Because the Sun's rays make the Earth look blue.
(c) Because most of the Earth is covered in water.

(d) Because clouds wrap around the Earth.

2. What does the word ‘formed' mean?

(@) hit (b) made (c) broke (d) stopped

3. Astronauts first landed on the moon in_

(a) 1961 (b) 1969 () 1869

4. What causes daylight on Earth?

(@) The full Moon causes daylight

(b) Daylight is caused by the Earth facing away from the Sun.
(c) The heat of the Sun's rays causes daylight.

(d) Daylight is caused by the Earth facing toward the Sun .

5. Which of the following sentences BEST describes the Sun?

(@) The Sun looks small because it is so far from Earth

(b) The Sun is a ball of burning gases that gives the Earth heat and light.
(c) The Sun is a small star.

(d) The Sun is not as hot as it looks.

6. Why did the astronauts bring rocks back from the Moon?

(a) Because they didn't know if they would return to the Moon ever again.

(b) Because they wanted to prove that they went to the Moon.
(c) Because they wanted to remember how the Moon looked.

(d) Because they wanted to study them and learn more about the Moon.

(d) 1959
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7. During the day, the Earth faces the —

(a) rocks (b) burning gases (c) sun (d) moon

8. Which word means nearly the same as "shinng" in the passage.(para-3)

(a) warming (b) darkness (c) burning (d) glowing

Q.2 Read the following passage given below. (12 marks)

Once upon a time there lived a famous holy man. He was a very religious and learned person.
His name was Rudra. One day, he decided to go to another village. He took with him only three
things. The first was a lamp so that he could read the holy books in the evening. The next was a
cock to wake him up in the morning so that he could offer his prayers. The last was a donkey
who could carry him on its back. After travelling for many miles, he came to a small village.
Nobody gave him shelter there. So he went out of the village and sat under a tall tree. Rudra had
no food to eat and nothing to drink. He lit the lamp to read the holy book but a strong wind blew
out the lamp. He said, “God is great and whatever he does must be for the best. “And he
stretched himself out on the cold earth and went to sleep. Next morning when he wokeup the
sun was shining brightly. He saw some villagers coming towards him. “Are you all right?, they
asked him. “No, I’m not, “Complained Rudra. “You wouldn’t give me any shelter. So I had to
sleep under this tree without any food or drink. And the wind blew out my lamp so I could not
read my holy book.” “Is that all?” cried the villagers. “During the night some robbers attacked
us and took away everything we had. Anyone who tried to stop them was beaten up and three
men were killed. Rudra once again knelt on the ground and thanked god.

2.1 Based on the reading of the above passage, answer the following questions. (1 x 4 = 4m)
i) Who was Rudra?

(1) What three things did Rudra take with him?

iii) What was the first thing Rudra took with him?

iv) Why did Rudra take a cock with him?

2.2 Answer the following questions in about 20-30 words. (2x4=8m)
(i) Where did Rudra stay? Why?

(if) Why did he lit the lamp?

(iii) What did he say when a strong wind blew out the lamp?

(iv) What did the villagers tell Rudra in the morning?
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SECTION B - WRITING (20 MARKS)

Q.3 You are Aarush/Aarushi, school captain of your school. Write a notice in about 50 words
for the school notice board, informing students about the Crayola Inter-school Art competition
to be conducted in the first week of October. Include all essential information. (5 marks)

OR

You are Sarvesh. You receive a telephone call from your mother’s office when she is not at
home. You have the following conversation with the speaker. But you have to go for your
tuition Class. So you leave a message for your mother. Write the message within 50 words
using the information given below. Do not add any new information. (5marks)

Sarvesh: Hello!

Mr Mehra: Hello! May | speak with Ms Dixit please? | am Naresh Mehra
from the office.

Sarvesh: Mom’s not at home right now.
Mr Mehra: In that case can you give her a message? It is urgent. Please tell her that the
meeting fixed for tomorrow has been rescheduled. Ask her to check her mail as soon as possible

for the details. Please don’t forget to inform her.

Sarvesh: Don’t worry. I will tell her as soon as she returns.

Q.4 You are Samina / Susrut living at 303, Gopal Enclave, Delhi. Write a letter to your
uncle informing that you have won the first prize in all India art competition. Its theme

was conservation of resources. (7 marks)
OR

Write a paragraph on the topic ‘My School’. (7 marks)

Q.5 The following are clues for you to write a short story in 100 to 125 words. Don’t forget

to give your story a title and moral. (8 marks)

An old farmer .................... Three idle sons............ father anxious ................

Tell them of a treasure in the fields ............. dies ....cconn. sons dig up the soil

............... excellent crop.

SECTION C - GRAMMAR (15 MARKYS)

Q.6. In the following passage each line has an error. Edit the passage by identifying the
wrong word in each sentence, and then write the incorrect and the correct word in your
answer sheet as shown in the first example of the passage. (1/2 x 6 =3m)

Incorrect — Correct

Example: There was a boy call Badal. call called
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i) He lived with her mother in a village

ii) and they was very happy.

iii) One evening, whenBadal was returning for school,
iv) he saw an puppy shivering in the cold.

v) Badal brought he home. Badal and his mother

vi) named the puppy Moti. Moti grew and love Badal.

Q.7 Do as directed.
i) Which is the right opposite of the word- ‘Pride’?
a) foolish b) ignore c) humility

i) Which is the right synonym of the word-‘yelped’?
a) wept b) cried c) laugh

(1x2=2m)

d) forgot

d) jump

Q.8 Fill in the blanks with the correct form of the verb given in the brackets. (1x2=2m)

i)l so sleepy. [ am feel/am feeling/is feeling]

ii) The farmer came back and (noticed/was noticing/had noticed) that Buntee

was sad.

Q.9 Rearrange the following phrases to form meaningful sentences. One has been done for

you.
Example-There/once/farmer/was/a
Once there was a farmer
)} farmer/the/ fruits/liked
i) decided/he /grow/fruit/land/on/his/to

iii)  worked hard/he/grow/to/of/variety/fruits/a
iv) grew/well/trees/the

(I1x4=4m)

Q.10 It was a full moon night. Some children had come out to see the moon. Complete the

conversation they had by picking the words from the help box.

(1x4=4m)

Help box

a camera for the picture, so bright and big, says the full moon looks very beautiful,

lets take a picture

Govind :Wow,look!
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Safura : The moon looks so big and bright
Sukanya: Isn’tit?

Dhruv : My grandfather( 1)

Ramani : Let us take a picture.

Safura : My mother has (ii)

Dhruv :Come.Stand here and iii)

Govind : The moon is (iv)

SECTION D-LITERATURE (25MARKS)

Q11. Read the extract below and answer the questions that follow. (1x4=4m)
The Raven, who did not see the joke,
Forgot that his voice was just a croak.
He opened his beak, in his foolish pride—

And down fell the morsel the Fox had eyed

(i) Who is the poet of the poem?
a) Marry de La Fontaine b) Jean Micheal La Fontaine

c) Jean de La Franchis d) Jean de La Fontaine

(if) The Raven opened its beak to

a) speak b) sing C)eat d)tear
(iii) The fell down.
a) leaf b) food c)crow d) mango

iv) A piece of food is called a-----

a) chapatti b) grain c)morsel d)bread

Q.12. Read the following extract below and answer the questions that follow. (1 x 4 = 4m)

When the elephant went out for a bath, the dog accompanied his friend. Plunging into the water,
the elephant gave himself a shower using his long trunk, as the dog watched. The elephant took
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a trunkful of water and playfully splashed the water on his friend. The dog yelped for he hated
taking showers. The mahout laughed.

i) Who went out for a bath?

i) What did the elephant use to give himself a shower?
iii) Why did the dog yelp?

iv) Who is a mahout?

Q.13. Answer ANY SIX of the following questions in about 30-40 words. (2 X 6m = 12m)

i) Who was Rama Natha? (A Bottle of Dew)

i) Why was Rama Natha angry? (A Bottle of Dew)

iii) What did the thief wish would happen? Did it happen? (Rama to the Rescue)
iv) How did the man and his wife get help from the kotwal? (Rama to the Rescue)
v) How will the speaker make her friends’ wishes come true? (A Friend’s Prayer)
vi) What happened when Mario sat on the chair for the first time? (The Chair)
vii) How does the poet feel about special friends? (A Friend’s Prayer)

Q.14. Answer ANY ONE of the following questions in about 80-100 words. (1 X 5m = 5m)
i) Do you think cleverness can help us solve our problems? Why do you say so?
(Rama to the Rescue)

i) What are the positive qualities that you would like your friend to have. Give a reason for
your choice. (A Friend’s Prayer)
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AT fAder / General Instructions:

1. The Question Paper contains FOUR sections-READING, WRITING, GRAMMAR
& and LITERATURE.
2. Attempt questions based on specific instructions for each part.

SECTION A — READING (20 MARKYS)

I.A. Read the following passage and answer the following questions. (10 Marks)
“A small step for man, but a giant leap for mankind,” said Neil Armstrong, when on July

29,1969, he became the first real man on the moon.

From the beginning people looked up to the moon, and tried to understand its mysteries. A
mystery that remains unexplained soon becomes supernatural. The primitive man began to
believe that the moon had power over weather, crops and herds and even on life and death.
They considered it God, and began to worship it.

In ancient Babylon, the moon was worshipped as a god named Sin. He was pictured as an old

man with a long beard, who rode across the sky in a boat, the “Ship of Light”.

In ancient Egypt, the moon god was called Thoth. Thoth once lived on Earth but Ra, the sun
god, placed him in the sky to give light. So, Thoth (full moon) appeared in the sky, making
nocturnal voyages in a boat. He was an important god for the Egyptians for they believed that
besides measuring time in months, seasons and years, he cared for science and literature on

earth.

In Japan, the moon was pictured as a white disc with a rabbit sitting upon its haunches. In

China, the moon was thought of as a hare. In Central and South America, however, the moon



was believed to be female, sometimes the sister and sometimes the wife of the sun. The

Greeks had two moon goddesses-Selene and Artemis. The Romans called the moon, Diana.
I) Choose the correct alternatives.

1. Primitive man began to believe that the moon had power over

a. weather b. crops c. herds d. all of these
2.In ancient Egypt, the moon god was called

a. Sin b. Ra c. Thoth d. Diana
3.In Babylon, the moon was pictured as

a. An old man b. a god c. aship d. a sinner
4.Besides measuring time in months, seasons and years, Ra cared for

a. sports and games b. arts and history

c. science and literature d. astronomy and astrology

5. In China, the moon was thought of as a

a. rabbit b. wolf c. deer d. hare

6. Fill in the gaps.

a. The Greeks had two moon goddesses, and

b. In Japan, the moon was worshipped as

c. In Central and , the moon was believed to be female.
d. ‘Awed’ means . (amazed/ shocked)
e. The homophone of ‘sun’ is . (run/son)

1.B. Read the following passage and answer the questions that follow. (10 Marks)

Mankind’s fascination for gold is as old as civilisation itself. The ancient Egyptians revered
gold, which had religious significance for them. King Tutankhamen was buried in a solid-
gold coffin 3,500 years ago. The wandering Israelites worshipped a gold calf. The legendary
King Midas asked that everything he touches be turned into gold.

2



Gold was discovered in its most basic and natural state, in streams and in the ground of
ancient world. Gold’s brilliance and resistance to tarnish, made the precious metal an ideal

jewellery-making commodity.

Not only is gold beautiful, it is virtually indestructible. It does not rust or corrode. Gold coins
and products fabricated from gold have survived undamaged for centuries. Gold is extremely
easy to work with. Gold conducts electricity better than any other substance, except copper

and silver, and it is particularly important in the modern electronics industry.

Much of gold’s value lies in its scarcity. Only about 80,000 tons of gold has been mined in
the history of the world. One of the biggest gold-mining areas in the Soviet Union is the

Kolyma River region, once famous for its prison camp.
Answer the following.

. What significance did the ancient Egyptians have for gold?
. What did the wandering Israelites worship?

. What did Kind Midas wish for?

. Why is gold an ideal jewellery-making commodity?

g B~ W N

. Is gold a good conductor of electricity? In which industry is it particularly important?

Complete the sentences.
Not only is gold beautiful, it

o p o

. Much of gold’s value lies in its

c. The region in Soviet Union is a gold-mining area.

7. Tick the correct answer.

a. The meaning of ‘commodity’ is . (a useful thing/a radiant thing)

b. The word opposite to ‘scarcity’ is . (shortage/abundance)

SECTION B- WRITING (20 MARKS)
Il. A. Write a paragraph on: My Favourite Hobby. (5 Marks)

I1. B. Write a letter to your grandfather telling him about how you celebrated ‘Independence
Day’ in school. (7 Marks)



I1. C. Based on the given outline, write a story in about 120 words. Give it a suitable title

and moral. (8 Marks)

A crow in a forest-very thirsty-finds a pot of water—water level low—Dbeak doesn’t reach-

puts pebbles in the pot one by one-water level rises- drinks- flies away.

SECTION C-GRAMMAR (15 MARKS)

I11. A. Do as directed. (8 Marks)
a. Fill in the gaps with the correct words. 2
1.Ritu many birds in the sky. (see/saw)

2. Ankit didn’t go to school he had fever. (because/ as soon as)

b. Give synonyms for: 1)
1. be - 2. right -

C. Identify the sound of ‘s’ in the given words. Is it /s/ or /z/? 1)
1. sage - 2. trees -

d. Make a new word by adding a letter to the following words. (1)
1. all- 2. pin -

e. Give opposite words for: 1)
1. foolish - 2. happy -

f. Punctuate the following sentence and write whether it is an exclamatory or

interrogative sentence. @

Wow, what a beautiful scenery

g. Add a prefix or suffix to the given word and fill in the gaps. (@8]
Eg. Magic- The magician performed a magical act.

1. Care-Be while crossing the road.

2. Friend- Our is long-lasting.




111.B) Identify the error in the given sentence and supply the correction.

Correct
I didn’t know how much chairs eg much

were arrange in the row. | had 1.

(3Marks)
Incorrect

many

few idea about the seating 2.

arrangement in a hall. The 3.

stage boys has displayed a 4.

map of India in connect with 5.

a group song. We thoughts that 6.

many invitees would come to attend the show.
I11 C. Rearrange the jumbled words.

1. shall/picnic/for/go/tomorrow/we/a .
2. animals/ useful/ than/some/be/human beings/can/more.

11 D. Make sentences using the pair of homophones in one sentence only.

For example: ate-eight- | ate eight idlis.
1. one-won -

2. see-sea

SECTION D- LITERATURE (25 MARKS)
IV. A. Read the poem extract and answer the following questions.
“Ha-ha!” laughed the Fox. “And now you know,
Ignore sweet words that make you glow.”

1. Name the poem.
2. To whom did the fox say these words?

3. What does the word ‘glow’ mean here?

(2Marks)

(2Marks)

(1x4=4)



4. \What lesson do we learn here?
OR

With special friends I feel I’'m blessed
So let me give my very best.

| want to do more than share

The hopes and plans of friends who care.

1. Name the poem.

2. How does the girl in the poem feel with special friends?
3. What does she want to do for her caring friends?
4

Do you feel the same for your friends?

IV. B. Read the extract and answer the following questions. (1x4=4)

Gajaraj, the elephant, lived in the best booth of the royal stables. The King was fond of
Gajaraj and he had ordered that the elephant should be well looked after. In spite of royal
comforts, Gajaraj was sad because he had no friends. The mahout or the elephant trainer was

the only one he had interacted with.

1. Where did Gajaraj live?

2. Who was fond of him?

3. Why was Gajaraj sad?

4. Whom did he interact with?

OR

Once upon a time, there lived a water fairy in a river along the woods. The water of the river
was crystal clear and very sweet. She was very happy playing with all kinds of fish in the
river. They were of different sizes, shapes and colours. One day, a group of nomads, while

crossing the jungle, stopped by the river to take rest and eat food.

1. Where did the fairy live?
2. How was the water of the river?

3. Who are nomads?



4. Why did the nomads stop by the river?

IV. C. Answer the following questions. (any six) (2x6=12)

1.What did Rama Natha believe?

2. Why did Reynard say ‘Pride is not wise’?

3. How did the man and his wife get help from the Kotwal?

4. Why do you think Buntee licked the farmer’s hand?

5. What did the thief wish would happen?

6. What happened when Mario sat on the chair for the first time?

7. What did the sage ask Rama Natha to do to make the magic potion?

IV. D. Answer in brief. (5)

1. The grandfather’s idea helped Mario to find his real friend. How would you find who
are your real friends? What qualities would you find in a friend?
OR
1. What valuable lessons have you learnt from the story ‘A Bottle of Dew’? Explain with

reference to the story.
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ATOMIC ENERGY EDUCATION SOCIETY
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fawT /ISUBJECT-MATHEMATICS SfUFHTH 3iH/MAX MARKS -80

T f4E=1 /General Instructions:
i) All the questions are compulsory.
i) This paper consists of five sections.

iii) Section A has 20 multiple choice questions of 1 mark each.
Section B contains 5 questions of 2marks.
Section C contains 6 questions of 3 marks.

Section D contains 3 Case Based Questions of 4 marks and

Section E has 4 questions of 5 marks.

SECTION—A (1x20 = 20Marks)

1) The predecessor of 8000 is (1)
(a) 7889 (b) 8001 (c) 7999 (d) 7890

2) Which one of the following is a prime number? Q)
(@ 9 (b) 15 (€)1 (d) 11

3) Ria, Seema and Sonia bought some books. Sonia bought 10 books. (1)

Ria bought 5 books more than Sonia. Seema bought 3 books more than Ria.

How many books did they buy in all?

(a) 15 books (b) 43 books (c) 18 books (d) 40 books
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4) What is the product of: 9680 x 10 x 14 x 0 x 8?
(a) 912040 (b) 642976 (c) 561260 (d) Zero

5) On dividing a number by 9, the quotient is 12 and remainder is 7.

The number is:
(a) 39 (b) 108 (c) 115 (d) 114
6) The seventh multiple of 9 is:
(a) 63 (b) 56 (c) 81 (d) 4
7)  Find the perimeter of the regular shape shown here:

3cm

(@) 3cm (b) 15cm (c) 18cm2 (d) 18cm

8) The area of the shaded part in the given 1cm grid is:

(a) 8cm? (b) 16cm2 (c) 32cm? (d) 4cm?
9) What completes the given number pattern?
1,2,6,24,120, ------

(a) 600 (b) 720 () 240 (d) 210
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10) Which one of the following statements is incorrect?
(@) 1111 is the smallest 4-digit no. (b) Place value of 5 in 5689 is 5000
(c) 57 is a composite number (d) 4 has three factors.
11) Ten thousands + ten ones + ten tens equals:
(a) 10011 (b) 10110 (c) 11010 (d) 101010

12) The sum of all odd numbers less than 10 is:

(@) 23 (b) 24 (c) 25 (d) 15
13) 10 million is:
(@) Onelakh  (b) Ten lakh (c) Ten crore (d) One crore

14) Which of the following numbers is divisible by 6?
(a) 72 (b) 70 (c) 83 (d) 85

15) The smallest 5-digit number written using the digits 4, 7, 5 and 0 with one digit

repeated is:
(a) 77540 (b) 40057 (c) 50047 (d) 44057
16) How many whole numbers are there between 20 and 35?
(a) 14 (b) 15 (c) 16 (d) 10
17) All the ---------------- numbers are divisible by 2.
(@) even (b) odd (c) prime (d) composite

18) Which one of the following shapes has exactly two lines of symmetry?
(a) Square (b) Triangle (c) Rectangle (d) Circle
19) The largest two-digit prime number is

() 99 (b) 97 (c) 98 (d) 91
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20) Assertion (A): If the area of a square is 36cm?, then the side of the square is 6cm. (1)
Reason (R):  Area of a square is side x side
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Alistrue and R is false.

(d) Ais false and R is true.

SECTIONB (2x5=10 MARKY)

21) I am the smallest number having four different prime factors. Who am 1? (2)
22)The perimeter of square X and rectangle Y are equal. Find the side of square X. (2)
12cm
Y
X 4cm
23) Write the next four consecutive numbers of 7698 2

24) There are 23 coaches in a train. Each coach contains 125 seats. How many people  (2)
can have seats in the train?

25) 5620 men and 3826 women lived in a village. 1827 people left the village. 2

How many people remained in the village?

SECTION C (3x6 = 18 MARKYS)

26) Find the difference between the greatest and the smallest number that can be written
using the digits 6,2,7,4,3 each only once. 3)
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27) Draw the lines of symmetry of the given shapes

(i) (i)
Figure (i) has ----- lines of symmetry.
Figure (ii) has ------ lines of symmetry.

©)

28) The given is a magic square. The sum of each row, column and diagonals are equal.

Find sum of A and B.

A 3 10
9 7 B
4 11 6

29) Draw two rectangles of different area and same perimeter.

30) Complete the pattern.

VANV AVAVAVAN

(i) © o o

(iii) m ? U
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31) Do as directed: 3)
(i) Write 36 as the sum of two odd prime numbers.
(if) Write in figures
Three crore, twenty lakh, seven thousand, seventy-five.
(iii) Write all the prime numbers less than 30.

SECTIOND _ (4x3= 12MARKS)

CASE BASED QUESTIONS

32) The table shows the height of buildings in millimeters. 4)
NAME HEIGHT (mm)
Burj Khalifa 828141
World Trade Centre 541324
Central Park Tower 472440
Shanghai Tower 631850

(i) Arrange the height of the buildings in descending order.
(it) Which building has the highest height?
(iii) Which building has the smallest height?
(iv) How much more is the height of World Trade Centre than Central Park Tower?
33) The population of Telangana state in 2011 was 35193978. 4)
The estimated population of the state in 2025 is 40157310.
Based on the above information, answer the following questions.
(i) Write the population of 2025 in words in Indian System of Numeration.
(i1) Write the place value of 1 in 35193978.
(iii) Write the population of 2011 in words in International System of Numeration.

(iv) Write the population of 2011 and 2025 in expanded form.
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34) Hanif plans to tile his kitchen floor with green square tiles. Each side of the tile is 5cm.
His kitchen is 180cm long and 25cm wide.
Based on the above information, answer the following questions. 4)
(1) Find the area of his kitchen floor.
(i)  What is the area of the green square tile?
(iii)  How many tiles will he need to tile his kitchen floor?
(iv)  Also find the perimeter of the kitchen floor.

SECTIONE  (5x4 = 20MARKYS)

35) True or False (5)
(i) The highest common factor of 7 and 14 is 14.
(i) Difference between the successor of 9999 and the predecessor of 999 is 9002.
(iii) The length of boundary of a closed figure is its perimeter.
(iv) The largest whole number is 99999999.

(v) Area of arectangle with length 17cm and width 5¢cm is 44cm

36) Fill in the blanks to find LCM of 15, 20 and 30. (5)
Multiples of 15 are ------- R S S etc.
Multiples of 20 are --------- R S J— etc.
Multiples of 30 are --------- R S J— etc
Common multiples are --------- R , JEE—'7Y

Least Common Multiple (LCM) is -------- .

37) Do as directed

(i) Draw a number line and add: 4+3 (2)
(it) Check whether 516 is divisible by 6. (2
(iii) Draw an asymmetric (not symmetric) picture. Q)
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38) Fill the missing numbers to find the HCF of 12, 16 and 20. (5)
Factors of 12 are ----, ----- , === , = y mmm y mmm
Factors of 16 are ----- , =====- , =====- , == , ==
Factors of 20 are ----- , =====- R y o y == ==

Common factors are ------ R R

*khkhkhkhkk
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T fA%er/ General Instructions:

SECTION A - 1 to 30 (30 questions 1 mark each)
SECTION B — 31 to 34 (4 questions 2 marks each)
SECTION C - 35 to 40 (6 questions 3 marks each)
SECTION D — 35 to 40 (6 questions 4 marks each)

SECTION A (1 x 30 = 30 Marks)
1. The number 6 can’t be shown as a

(A) Rectangle (B) Triangle (C) Line (D) Square
2. Which of the following numbers is not a triangular number?
(A) 10 (B) 6 ©) 3 (D)9
3. Which of the following numbers can be shown as square?
(A) 12 (B) 13 (C) 16 (D) 11
4. What is a set of points which extend infinitely in both directions called?
(A) Aline (B) A plane (C) Aline segment (D) A point
5. Angle which is less than 360° and larger than 180° is classified as

% % S
Qo y

(A) acute angle (B) obtuse angle (C) reflex angle (D) right angle

6. Two distinct lines meeting at a points are called

(A) intersecting lines (B) parallel lines (C) collinear lines (D) None of these

7. What is the number of end points of a line?

(A) Zero (B) Two (C) One (D) Three

8. The side of a square is 12 m. Its perimeter is
(A)36m (B) 24 m (C)48 m (D) 144 m

9. What do you call the total boundary length of a closed figure?
(A) Area (B) Volume (C) Perimeter (D) Region

10. A symbol is used to represent 100 flowers. How many symbols are to be drawn to show 800 flowers?
(A)8 (B) 12 (©)10 (D) 80

11. What is the number of houses represented by the figure 44~ if each symbol represents 15 houses?
(A) 60 (B) 20 (C)15 (D) 40
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12. A is a collection of numbers gathered to give some information.

(A) frequency (B) data (C) tally mark (D) None of these
13. A__ represents data through pictures of objects.

(A) histogram (B) pictograph (C) bar graph (D) pie chart
14. The only prime number which is also even is

(A) 6 B)1 (€2 (D) 4
15. The predecessor of 1 million

(A) 999999 (B) 9999 (C) 999 (D) 99999
16. What would you call the following sequence of numbers?

00 e
0O 000 ©®

0 e Q0090900
00 e
1 7 19 37
(A) square numbers  (B) powers of 2 (C) hexagonal numbers (D) cube numbers

17. When an arm of an angle is extended then how does its measure change?

(A) Doubled (B) Tripled (C) Remains the same (D) Halved
18. At 5:20 what type of angle is formed between the two hands of a clock?

(A) An obtuse angle (B) A right angle (C) An acute angle (D) A reflex angle
19. The smallest 5-digit number formed by using the digits 5,0,3,1 and 2 only once

(A) 10325 (B) 01235 (C) 10235 (D) 20135
20. The smallest 8 digit number is called
(A) Ten lakh (B) One lakh (C) Ten crore (D) One crore

21. Following figures are formed by joining six unit squares. Which figure has the smallest perimeter?

(A) (B) © (D)
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22.

23.

24,

25.

26.

27.

28.

29.

Which observation in the following data has maximum frequency?
1,1,2,4,3,2,1,2,2,4
(A) 4 (B)3 ©1 (D)2

Letter ‘H’ of the English alphabet has reflectional symmetry (i.e., symmetry related to mirror reflection)
about:
(A) Neither horizontal nor vertical mirror (B) Both horizontal and vertical mirror

(C) a horizontal mirror (D) a vertical mirror

Which of the following has 5 lines of symmetry?

(A) Acircle (B) A regular pentagon (C) A triangle (D) A quadrilateral
What will come at the place of question mark? 1,9, 25, 49, ?, 121.

(A) 4 (B) 16 (C) 81 (D) 36
The branch of Mathematics that studies patterns in whole numbersiscalled_

(A) Statistics (B) Geometry (C) Number Theory (D) Trigonometry

Assertion (A): 571, 847, 8320, 9754 are arranged in ascending order.
Reason (R): Ascending order means arrangement from the smallest to the greatest.

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is not the correct explanation of A
(C) Ais true but R is false

(D) Ais false but R is true

Assertion (A): When the time is 11 o’clock, the angle formed between the hour hand and the minute
hand is an acute angle. In other words, 30°, 40°, 57°, and so on are all acute angles.
Reason (R): Acute angles measure less than 90 degrees.

(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is not the correct explanation of A

(C) Ais true but R is false
(D) Ais false but R is true
Assertion (A): Consider the marks scored by 10 students in a test. 10,9, 9, 8,2, 8,2, 8,8, 7. The
frequency of 8 in the data is 4.
Reason (R): 8 occurs 4 times in the data. So, its frequency is 4.

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is not the correct explanation of A

(C) Alis true but R is false

(D) Ais false but R is true
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30. Assertion (A): M has vertical line of symmetry

Reason (R): The symmetry of an object is defined as one half of the object is a mirror image of the
other half.

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is not the correct explanation of A

(C) Alis true but R is false

(D) Ais false but R is true

SECTION-B (2 x 4 = 8 Marks)

31. Write four examples where mathematics helps us in our everyday lives.
32. Draw and label an angle with arms ST and SR.
33. What are palindromic numbers? Give one example.
34. Complete Figure so that | is the line of symmetry of the completed figure.

SECTION-C (3 x 6 = 18 Marks)
35. Find the perimeter and area of the rectangle of length 17 cm and breadth 13 cm.
36. Wh_at happens when you start to add up hexagonal numbers? Which sequence do you get? Explain it
using a picture.

37. What part of a revolution have you turned through if you stand facing

(a) east and turn clockwise to face north?

(b) south and turn clockwise to face east?

(c) west and turn clockwise to face east?
38. Use a protractor to draw angles having the following degree measures: a. 110° b. 40°

39. Identify the numbers marked on the number lines below, and label the remaining positions.
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40. In a village six fruit merchants sold the following number of fruit baskets in a particular season:

Name of Number of &3 _ 100 Fruit baskets
_fruit merchants fruit baskets = oo
Rahim =0 (m Y (me? Chl
Lakhanpal lw ) fmilr et ? wi'
Anwar "-f'fl Qj" 9 ﬂf" = .qtl =
. e o WY e Y. e WY e S s Y o M Y o= =
Martin it [wil) .u:" w1t (=Y (e :':7‘ ) Q =1
Ranjit Singh (@3 (& &) &) & SH & &
& o LN LT o
Joseph sy S S e &

(&) Which merchant sold the maximum number of baskets?
(b) How many fruit baskets were sold by Anwar?

(c) The merchants who have sold 600 or more number of baskets are planning to buy a godown for the
next season. Write the name of the fruit merchants.

SECTION-D (4 x 6 = 24 Marks)

41.

A child says ‘1’ if there is only one taller child standing next to them. A child says ‘2’ if both the children
standing next to them are taller. A child says ‘0’, if neither of the children standing next to them are taller.
That is each person says the number of taller neighbours they have.

(a) How would you rearrange the five children so that the maximum number of children says ‘2°?
(b) For a group of 5 children, is the sequence 1, 1, 1, 1, 1 possible?

42. Sushri Sandhya asked her students about the sizes of the shoes they wear. She noted the data on the
board:

4153|4134 |5]5]4
5/5/4|5|6]4|3|5]6
4 16|4|5]7]|5|6]4]5
Help her to figure out the following:
(a) The largest shoe size in the class is
(b) The smallest shoe size in the class is .
(c) There are students who wear shoe size 5.
(d) There are students who wear shoe sizes larger than 4.
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43. Rohan has a shop from last few years in which he was selling different items at their respective cost

per kg or per one quantity.

Things Price

Apples Rs 40 per kg
Oranges Rs 30 per kg
Combs Rs 3 for one
Tooth brushes Rs 10 for one
Pencils Rs 1 for one
Note books Rs 6 for one
Soap cakes Rs 8 for one

The Sales During The Last Year
Apples 2457 kg
Oranges 3004 kg
Combs 22760
Tooth brushes 25367
Pencils 38530
Note books 40002
Soap cakes 20005

(i) Find the total money Rohan got by selling oranges.

(A)Rs. 90120 (B) Rs. 10000 (C) Rs. 90020 (D) Rs. 90122
(i) Find the total money Rohan got by selling apples

(A)Rs. 98200 (B) Rs. 98280 (C) Rs. 97280 (D) Rs. 98820
(iii) Find the total money Rohan got by selling pencils and note books.

(A)Rs. 20000 (B)Rs. 276542  (C) Rs. 278542 (D) Rs. 20054
(iv) Find the total money Rohan got by combs and soap cakes.

(A)Rs. 228320 (B) Rs. 227320  (C) Rs. 273200 (D) Rs. 328320

44. Draw a rough figure and write labels appropriately to illustrate each of the following:

(a) Point P lies on AB.

(b) XY and PQ intersect at M.

(c) Line | contains E and F but not D.
(d) OP and OQ meet at O
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45. Use a protractor to find the measure of each angle. Then classify each angle as acute, obtuse, right
or reflex.

(a) PTR (b) 2PTQ (©) 2PTW (d) ZWTP

@ -~
W

46. Given below are the land areas of the four largest countries of the world. Study the list and answer the
questions below.

Country Approximate Area (in sq km)
China 95,96,960
USA 96,29,091

Russia 1,70,75,200

Canada 99,84,670

(a) Which is the largest country in the above table?
(b) What is the difference between the largest and smallest country in the above table?
(c) What is the place value and face value of the digit 8 in the area of Canada?

(d) What is the area of the smallest country in the above table?
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General Instructions:

SECTIONA-11to0 20 (20 questions 1 mark each.)
SECTION B - 21 to 25 (5 questions 2 marks each.)
SECTION C- 26 to 31 (6 questions 3 mark each.)
SECTION D - 32 to 34 (3 questions 4 marks each.)
SECTION E - 35 to 38 (4 questions 5 mark each.)
SECTION:A 1 X 20 = 20M

Choose the correct answer:

1) The number of lines of symmetry that an equilateral triangle has is (1M)
a)6 b) 3 ©)9 d) 12
2) Two cubes are placed side by side. If the edge of a cube is 2 cm, the length of resulting (1M)
cuboid is
a)2cm b) 6 cm c)4cm d) Iem
3) Perimeter of a rectangle is (1M)
a) length x breadth b) length + breadth
¢) 4 x length of side d) 2 x (length + breadth)
4) Representation of data in the form of picture is called (1M)
a) Bar graph b) Pictograph c¢) Histogram d) None of these
5) The number of times a particular data occurs in the observation is called as (1M)
a) Frequency b) Mean c¢) Collection of data d) None of these
6) Complete the following 26,23,20,17, (1IM)
a) 11 b) 14 c) 13 d) none of these
7) Mrs. Hunt wrote the following number pattern: 16,23,30,37,  .What number would  (1M)

come next if the pattern continued?



a)54  b)45 )44  d)43

8) How would you describe this pattern's rule? 99, 97, 95, 93, 91 (1M)
a) Subtract 1 b) Add 2 ¢) Subtract 2 d) Add 3
9) What type of pattern is this (1M)
a) Growing b) Repeating c) bothaand b d) none of these
10) The diameter of a circle divides it into equal parts. (1M)
a) 2 b) 3 c)4 d)1
11) Which of the following shapes has three sides? (1IM)
a) Triangle b) Quadrilateral c) Pentagon d) Hexagon
12) What is the sum of the measures of the angles in a triangle? (1M)
a) 90° b) 180° c) 270° d) 360°
13) An angle whose measure lies between 0° and 90° is known as angle. (1IM)
a) Right b) Obtuse c) Acute d) None of these

14)Which one of the following figures is an example of open curve?

(IM)
a) b) c) d)
15) Number of prime Numbers between 10 to 20 is (1M)
a)5 b) 7 c)4 d)3
16)The two numbers which have only 1 as their common factor are called (1M)

a) Co-primes  b) Twin prime  ¢) Composite  d) None of these

17) The only prime number which is even is (1M)
a) 1 b) 4 c)2 d)3

18) The Tally mark HAT shows frequency (1M)
a)0 b) 4 c)5 d)1

19) Numbers that read the same from left to right and from right to left are called (1M)
a) Drones b) Palindromes ¢) Aerodrome d) Syndrome



20) If ‘ represents 5 apples, how many does ‘ ‘ ‘ ‘ represents

(1M)

a)4 b) 16 c) 20 d) 25
SECTION:B 2X5=10M
21) Find the perimeter of the given shape. 2M)

15
15 rm 24 m
2 m
oo
19 m
132 m
22) Complete the sequence (2M)
o a e oo eeoee )
o e e 9@ L B N N .

Find the rule for the given pattern and also draw the next shape.
23) Give any two differences between a line and a line segment. (2M)
24) Find the prime factors of 24. (2M)
25) Measure the angles given below, using the Protractor and write down the measure.  (2M)

b =
() =
SECTION: C 3x6=18M

26) In the given 3 x 3 grid, arrange the digits from 1 to 9 (without repetition) such that the sum of the

numbers is 15. (3M)




27) Determine the value of P and Q in the following pattern. (3M)
85,79, 73,67,61,55,49,43, P, 31, 25, Q.
28) What type of angle is formed between a minute hand and hour hand when it is 3:30 PM? (3M)
Also, draw a rough sketch of the angle formed and name it as POQ.
29) Write the prime factorisation of 180. (3M)
30) Draw the hands of the clock when they make an angle which is (3M)

a. Less than a right-angle

31) Using the figure name a 3M)
(a) Line containing point E. >
(b) Line passing through B.
(c) Two pairs of intersecting lines.
SECTION:D 4x 3=12M

CASE BASED QUESTIONS:

32) The population of Tamil Nadu state in 2011 was 35193978 and the estimated population
of the state in 2025 1s 38157311

Based on the above information, answer the following questions.

(1) Write the population of 2025 in words. (1IM)

(i1) Write the place value of '1' in 35193978. (1M)

(ii1) Write the population of 2011 in Indian system of numeration and also in International

system of numeration by placing commas. (2M)

33) Rohan has a small shop in which he was selling different items and their respective

4



cost per kg with the sales during the last year is given below

o - —— The sales during the last year —
I'hings Price 3 -
Apples 2457 kg
Appl?S _ T4l per l‘g Oranges 3004 kg
g‘ e : :2 perke | | combs 22760
IS = oS Tooth brushes 25367
Tooth brushes T 10 for one :

: 4 Pencils 38530
Pencils T 1 for one it s 0002
Note books Z 6 for one Note - j
Soap cakes ¥ 8 for one Soap cakes 20005

Based on the above information, answer the following questions:

(1) Find the total money Rohan got last year by selling oranges? (1M)
(i1)) How much money did Rohan get last year by selling notebooks? (1M)
(ii1) Find the total money Rohan got by selling notebooks and oranges together? (2M)

34) The bar graph shows the number of toys produced by a factory during a certain week:

PRODUCTION RATE OF A WEEK

300

250

200
150
100
5 I
0 B

MONDAY TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY

NUMBER OF TOYS PRODUCED
o

DAYS
Answer the following questions:
1) On which day the maximum number of toys were produced? (1M)
i1) On which days equal number of toys were produced? (1IM)

5



i11) What is the total number of toys produced on Friday and Saturday? (2M)

SECTION: E 5X4=20M

35) Where will the hour hand of a clock stop if it starts? (5 x IM)

(@) From 6 and turns through 1 right angle?

(b) From 8 and turns through 2 right angles?

(c) From 10 and turns through 3 right angles?
(d) From 7 and turns through 2 straight angles?
(e) From 2 and turns through 1 complete angle?

36) a) The following figure gives a matchstick pattern of triangles. Find the general rule that gives
the number of matchsticks in terms of the number of triangles and also draw the next figure
(3m)

(a) (b) (c) (d)

b) Create a pattern following the same rule using any symbol of your choice. (2m)

37) State whether the following statements are true (T) or false (F): (5 x 1M)

a) A horizontal line and a vertical line always intersect at right angles.

b) If the arms of an angle on the paper are increased, the angle increases.
¢) Two line segments may intersect at two points.

d) Only one line can pass through a given point.

e) A line segment is a part of a line.

38) Draw a rough ﬁgureTor each of the following and label suitably: S x1M)

(@) Point P lies on AB.
(b) XY and PQ intersect at M.
(c) Line | contains E and F but not D.

(d) OP and OQ meet atO.
(e) Any acute angle ABC.
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Atomic Energy Education Society
Term -1 Examination: Practice Paper-1
Class:VI Duration:3 Hours

Subject:Science Maximum Marks: 80

General Instructions:

1.The paper consists of two parts, PART-A and PART-B

2.PART-A contains 20 MULTIPLE CHOICE QUESTIONS of 1 mark each.
3.PART-B contains

(I) 9 questions of 2 marks each,

(IT)8 questions of 3 marks each and

(II) 2 CASE -STUDY BASED questions of 4 marks each.

(IV) 2 questions of 5 marks each.

4.Draw neat and labelled diagrams wherever necessary.

5.All questions are compulsory.

PART A

A SELECT THE MOST APPROPRIATE OPTION. (1markx20=20marks)

1. Which activity would the duck be able to perform using the webbed feet?

(a)Flying (b)Swimming (c)Jumping (d)None of theses

2. 1s an amphibian.

(a) Fish  (b)Duck (c)Frog (d)Camel

3. A freely suspended magnet comes to rest along the

(a) North-South direction (b) North-East direction

(c)North-West direction (d)East-West direction.

4.In which of the following cases do the clothes take a longer time to get dried?

(a) Summer season (b)Rainy season (c)Both summer and rainy season (d)All of these

1
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5 Which of the following is a standard unit of measuring length?

(a) Fingers (b) Metre (c) Fist(d) Handspan

6. Which of the following statements is not true?

(a) Materials are grouped for convenience. (b) Materials are grouped to study their properties.

(c) Materials are grouped for fun. (d) Materials are grouped according to their uses.

7.Water boils and becomes when we heat it,

(a)Steam (b)Ice (c)Solid (d)None of these.

8 Which one of the following food item does not provide dietary fibre?

(a) Whole grains (b) Whole pulses (c¢) Fruits and vegetables (d) Milk

9.Fish live in water.They have streamlined body and for movement.

(a)Scales (b)Fins (c)Legs (d)All of these

10. is not an example of a terrestrial habitat.

(a) Pond (b)Desert (c)Forest (d)Grassland

11.Scurvy is caused due to the deficiency of :

(a) Vitamin A (b)lodine (c)VitaminC (d)Iron

12. A bar magnet is immersed in a heap of iron filings and pulled out. The amount of iron

filling clinging to the

(a) North pole is almost equal to the south pole. (b) North pole is more than the south pole.

(c) North pole is much less than the south pole. (d) Magnet will be same all along its length.

13. The distance between Delhi and Lucknow is usually measured in:

(a)Metre (b)Kilometre (c)Centimetre (d)None of these

2
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14. An object is said to be in if its position changes with respect to the reference point

with time.

(a)Rest (b) Complete rest (c)Motion (d)None of these.

15. When an object moves along a circular path, its motion is called
(a)Linear motion (b)Circular motion (c)Oscillatory motion (d)Slow motion
16. A magnet always has poles.

(a)One (b)Two (c)Three (d)Four

17. Unlike poles of two magnets  each other.

(a)Sometimes repel (b)Attract (c)Always repel (d)Never attract
18.Which of the following is not a junk food:

(a) Potato wafers (b)Candy bars (c)Carbonated drinks (d)Ragi dosa
19. Makki di roti, is a traditional food item of:

(a)Karnataka (b)Punjab (c)Maharashtra (d)Manipur

20. The special features that enable plants and animals to survive in a particular region are

called

(a)Adaptations (b)Habitat (c)Habits (d)All of these.

PART B

( VERY SHORT ANSWER QUESTIONS ) (2 marksx9=18marks)
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Answer the following:

21.What is habitat? Give two examples of aquatic habitats.

22.What are climbers?

23. Name the ingredients of laddoo.

24.Give two examples of changes in cooking tools overtime.

25.Describe a daily life situation where you feel you have followed a scientific method.

26.Draw magnets of any two shapes.

27. The property of a freely suspended magnet to always rest along the north-south direction .
Based on this, a small device was made.What is the name of the device?What is the use of

this device?

28. Suppose the distance between your school and home is 2.5 km. Express it in metres.

29 How can we measure the length of a curved line?

( SHORT ANSWER QUESTIONS ) (3 marksx8=24marks)

Answer the following:

30. Write three features which help camels to survive in the cold desert.

31.What are herbs, shrubs and trees? Explain. Give one example each of herb, shrub and tree.

32.Write an activity to find out the presence of starch in a given food item.

33. Write down two benefits of reducing food miles. Name two millets.

34.What are magnetic and non-magnetic materials?

35. You are given a magnet which does not have the poles marked. How can you find its

poles with the help of another magnet which has its poles marked?
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36.What is oscillatory motion?Give two examples of oscillatory motion.

37.While measuring the length of a pencil,it was found that the reading at one end of the
scale is 1.0 cm and at the other end of the scale , it is 10.4 cm.What is the length of the
pencil?

CASE STUDY BASED QUESTION-1 (4marks)

ACTIVITY

38. Make a paste or powder of the food item A using pestle and mortar .Put about half
teaspoon of each food item in a separate clean test tube. Add 2-3 teaspoons of water to each
test tube and shake them well. Add two drops of copper sulphate solution to each test tube
using a dropper. Now, take another dropper and add 10 drops of caustic soda solution to each

tube .Shake well and leave the test tubes undisturbed for a few minutes.

OBSERVATION: The content of the test tubes turn violet.

(a) This violet colour indicates the presence of in the food item. A. (1)
(b)Name two food items which are rich sources of fats. (1)
(c)Which nutrient is present in pulses? (1)
(d) Peanuts show the presence of both and . (D
CASE STUDY BASED QUESTION-2 (4marks)

39. Chickpea seeds are split into two parts. Each part is called a cotyledon. . Plants that have
seeds with two cotyledons are called dicotyledons (dicots). Maize has a single thin cotyledon.

Plants with such seeds are called monocotyledons (monocots).

(a)Draw a dicot seed showing cotyledons. (1)
(b)Wheat is an example of  (monocot/dicot) seed. (1/2)
(c)Kidneybean is an example of (monocot/dicot) seed. (1/2)
(d)What type of leaf venation and root system can we see in a dicot plant? (2)
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LONG ANSWER QUESTION (Smarksx2=10)

40. Radhika had trouble seeing things in dim light. The doctor tested her eyesight and

prescribed a particular vitamin supplement. He also advised her to include a few food items

in her diet.

(1) Which deficiency disease is she suffering from? (1)
(i1) Which food component may be lacking in her diet? (D)
(111What is a balanced diet? (D)

(iv) You are provided the following:

(1) Canned fruit juice (ii) Fresh fruit juice (ii1) Fresh fruit .Which one would (2)

you prefer and why?

41.(a)The height of a tree is 4.1 metres. Express it in (i) kilometres(ii) centimetres and  (3)

(ii1) millimetres.

(b)What is linear motion? Give two examples. (2)



sm' 31'%?[ q}_d HEIT Total No. o printed pages: 05

qIATO] Salt frator wEyr

Atomic Energy Education Society
H-I/3maf8% qdaT-Term-1/PT-11 Examination : Practice Paper-1I

& /Class : VI 3raf@/Duration : 3 HOURS
fasr / Subject : SCIENCE ATAHTA 3H/Maximum Marks : 80

HATATITAGST / General Instructions:

1. This question paper comprises of five sections and 41 questions.

2. Section —A consists of 20 multiple choice questions from Q.No. 1 to 20. These questions carry one
mark each.

3. Section —B consists of 9 very short answer type questions from Q. No. 21 to 29. These questions
carry 2 marks each.

4. Section-C consists of 8 short answer type questions from Q. No. 30 TO 37. These questions carry 3
marks each.

5. Section-D consists of two case based questions. Each case is followed by 4 multiple choice
questions carrying 1 mark each. These questions are 38.1, 38.2, 38.3, 38.4, 39.1, 39.2, 39.3 and 39.4 .

6. Section-E consists of 2 long answer type questions from Q. No. 40 to 41. These questions carry 5
marks each.

7. All questions are compulsory. Attempt all questions.

8. Draw well labelled diagrams wherever necessary.

SECTION- A
Choose the correct option (1 X 20= 20 MARKS)
1. Which one of the following is not a step of scientific method?
a. observation b. questioning c. learning by heart d. experimentation.
2.Which part of a plant conducts water to topmost part?
a. roots b. stem c. leaf d. flower

3.The variety of plants and animals found in a particular area is called:



fab)

. biosphere  b. atmosphere c. biodiversity d. flora

SN

. Such plants which have week stem and need support to climb and grow are called:

a. herbs b. climbers C. creepers d. shrubs

ol

. Which of the following plant has reticulate venation in their leaves?
a. banana b. grass c. hibiscus d. maize
6. Fins are used by for movement.

a. pigeon b.ant c. fish d. goat

~

. Deodar trees are conical in shape and have flexible and sloping branches to:

[ob)

. survive in deserts b. survive in mountains and let snow slide easily.

o

. look attractive d. Deodar trees are not conical in shape.

8. In which state will you find the animal having following characteristics: long legs with wide, hooves,

have hump, dry dung and they do not sweat.
a. Jammu and Kashmir b. Kerala c. Rajasthan d. Assam

9. Who is known as ‘Birdman of India’ ?

a. Salim Ali b. M. S. Swaminathan c. Coluthur Gopalan d. Hargovind Khorana

10. Energy giving foods are rich in:
a. carbohydrates b.fats C. proteins d. both fats and carbohydrates
11.Carrot , papaya, mango and milk are rich sources of:
a. vitamin A b. vitamin B c. vitamin C d. vitamin D
12. If a person does not use iodized salt in his diet, then he is likely to suffer from:
a. night blindness b. goiter C. scurvy d. beri-beri
13. Which pair of nutrients are collectively called ‘protective nutrients’?
a. fats & carbohydrates b. vitamins &minerals C. proteins &fats d. roughage &water
14. Name the only vitamin that can be synthesized in our body.
a. vitamin A b. vitamin B c. vitamin C d. vitamin D

15. Mahesh observed blue black colour when he added few drops of iodine solution in a test tube
containing paste of a food item. This shows that the food item contains:



a. starch b. fats C. proteins d. all

16. Millets are small sized grains and have been an integral part of the Indian diet for centuries. Select
millet from the following given grains.

a. maize b. bajra c. wheat d. paddy

17. Cactus plant survive in desert by making some modifications in its body parts. Which is not an
adaptation of cactus?

a. long roots b. leaves reduced to spines  c. stem performs photosynthesis d. short roots
18. Which is not true about magnets?

a. similar poles repel while dissimilar poles attract .b. similar poles attract while dissimilar poles repel

c. a magnet always has two poles d. poles are located at the ends of a magnet.

19. Which component of food does not provide any nutrient ?

a. iron b. calcium C. water d. iodine
20. As seed grows into a plant , a transforms into a beautiful butterfly.
a. tadpole b. caterpillar c. sapling d. kitten
SECTION-B (2 X9 =18 MARKS)

21. Why do we need to eat food?
22.What is science?
23.Write two properties of magnet.
24 What is habitat?
25. Draw a dicot seed of chickpea (chana).
26.What kind of root is radish? How is it different from root of maize?
27.1f a plant has reticulate venation in its leaves, then find out
(a). whether it has monocot seed or dicot seed
(b). type of root in this plant.
28. What role does water play in our body?

29. Name two chemicals used to test the presence of proteins in a food item.



SECTION-C (3 X8= 24 MARKS)
30. Pick the odd one out and give reasons:
(a). Jowar, Bajra ,Ragi, Chana
(b).Kidney beans, Green gram ,Soyabean, Rice
(c). Wheat, Rice , Maize, peanut
31. What is adaptation? Write some adaptations of fishes.
32.Draw figures to show (i) parallel venation and (ii) reticulate venation

33. Reshma had trouble in seeing things in dim light. The doctor tested her eyesight and prescribed a
particular vitamin supplement. He also advised her to include a few food items in her diet.

(a@). Which deficiency disease is she suffering from?
(b). Which food component may be lacking in her diet?
(c). Name four food items that Reshma should include in her diet to get rid of this disease.
34. Define herbs, shrubs and trees with two examples of each.
35. Suggest some methods to keep magnets safe.
36.Write all steps of scientific method in correct sequence.
37. Draw figures to show : (a). taproot and (b). fibrous root.

SECTION-D CASE BASED QUESTIONS (2 X 4 =8 MARKS)

In the following two questions a passage is given followed by 4 multiple choice questions. Read the
passage carefully and answer the questions that follow.

Case-1 : In earlier times, during long voyages, sailors often suffered from bleeding and swollen
gums. During a voyage in 1746, Scottish physician James Lind observed that sailors who
consumed lemons and oranges recovered from these symptoms . Bleeding and swollen gums are
symptoms of a disease called scurvy.

38.1 Deficiency of which nutrient causes scurvy?
a. Iron b. Calcium c. Vitamin C d. Vitamin B
38.2 Which of the following is/are source of Vitamin C?

a. Amla b. Guava c. green chilli d. all



38.3 Vitamin C gets destroyed by:

a. over cooking b. peeling fruits c. washing d. keeping fruits in fridge.
38.4 Vitamin C is also known as:

a. acetic acid b. tartaric acid c. ascorbic acid d. nicotinic acid

Case-2 :We know that materials differ in some of their properties and they may also be similar in some of
their properties . Materials can be grouped on the basis of similarities or differences in their properties.
Same objects can be kept in different groups depending upon the characteristic selected for classifying
them . For example apple is edible and at the same time it is round in shape.

39.1 Why do we group materials or objects in everyday life?
a. We consider it essential b. We group them to understand them better
c. We group them as it is interesting. d. none of the above is correct

39.2 Which of the following materials can be placed into same group?
a. books, shirt, table, newspaper b. books, notebooks, newspaper, calendar
c. shirt, shoes, handkerchief, plate d. books, glass, newspaper, calendar

39.3 Which of the following can be grouped as water soluble?
a. sugar, chalk powder, soil, sand b. salt, sugar, copper sulphate, vinegar
c. chalk powder, vinegar, honey, sand d. sugar, copper sulphate, sand, honey

39.4 Which of the following items can be grouped as edible?

a. refined oil b. kerosene oil C. beauty soap d. shampoo
SECTION-E (2 X 5 =10 MARKS)
40. (i) What are terrestrial and aquatic habitats? Give examples. (2)
(if) What are amphibians? Give some examples. 1)

(iii) Which part of their body is used by following organisms for movement?
Pigeon, housefly, fish, goat 2
41.(i). What is balanced diet? Write the names of major nutrients and their two sources. (2)
(ii).Write the names of major nutrients and their two sources (2)

(iii). Do all of us need same quantity of food? If not, why? @
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1. g fA&wr / General Instructions: This question paper comprises of 41

questions and all questions are compulsory.

2. Q No. 1to 20 are multiple choice type questions (MCQs) carrying one mark each .
3. Question No. 21 to 29 are Very Short Answer Type (VSA) questions, carrying two
marks each.
4. Question No. 30 to 37 is Short Answer Type (SA) questions, carrying three marks
each.
5. Question No 38 to 39 is Case Based Question questions, carrying four marks each.
6. Question No 40 to 41 is Long answer type questions (LA), carrying five marks each.
Draw neat and labelled diagrams wherever necessary.
QI Choose the correct answer from the following: (1x20=20)
1. Girth of a tree can be measured by:
a. metre scale b. metre rod C. metre tape d. none of these
2. Select the correct statement from the following:
a. Living things die. c. Non-living things grow
b. Non-living things breathe d. Non-living things move
3. Landforms present on the surface of earth is /are:
a. hills b. mountains c. valleys d. all of these
4. Some purposes for which we require water in our daily life:
a. cooking food b. drinking c. bathing d. all of these
5. Common sources from where people get water in their locality:
a. river b. sea C. ponds d. bothaand c
6. Lengths of some objects that can be measured in mm:

a. gemstones b. needle . wheat grain d. all of these
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Ingredients of vegetable biriyani:

a. rice, salt, vegetable, spices C. rice, water, jaggery, spices

b. rice, sugar, milk, nuts d. rice, chicken, spices, salt

Locally grown crops in Punjab are:

a. maize b. wheat c. chickpea d. all of these

was used in traditional culinary practices.

a. sil-batta b. chulha c. electric grinder d. bothaand b
Bleeding gums and slow healing of wounds are the symptoms of

a. Goitre b. Anaemia c. Scurvy d. Beri-Beri
Pick those food items that provide water to our body:

a. banana, roti, rice c. watermelon, orange, tomatoes

b. nuts, apple, cucumber d. chicken, rice, dal

Which of these food item contain fats?

a. peanuts b. egg white c. boiled gram d. bread
Why millets are called nutri-cereals?

a. they are good source of vitamins

b. they are rich in minerals like iron and calcium

c. itcontains dietary fibres

d. all of these

Examples of amphibians is/are:

a. frog b. toads c. salamanders d. all of these
Lemon grass has venation.

a. parallel b. reticulate c.bothaandb d. none of these

The magnets used by sailors in the olden days were based on naturally occurring

magnets, known as

a. bar magnet b. lodestones c. disc magnet d. none of these
Curved line can be measured with the help of:

a. thread b. measuring tape c.bothaand b d. ruler

Roma was travelling to Pune by bus, she saw a kilometre stone on the side of the
road. On one of the kilometre stone, it was written ‘Pune 60km’. What do such
kilometre stones indicate?

a. position of Roma is 60km from Pune

b. kilometre stone indicates her distance from Pune

c. kilometre stone indicates the distance covered
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d.

bothaand b

19. Pick the incorrect statement from the following related to storing magnets.

a.
b.
C.
d.

Heat the magnets properly.

Store them properly with unlike poles on the same side.
Keep them in pairs with a piece of wood in between.
Do not keep them near mobile phones.

20. Look at the picture and identify the type of artificial magnet.

C

a. disc magnet b. cylindrical magnet  c. horse-shoe magnet d. bar magnet

QI1 Answer the following briefly ( not exceeding 40 words): 2x9=18

21. Rashmi has some kidney beans and rice she wants to study the characteristics of both

the plants. Write the leaf venation and type of root these plant will have. @)

=0
e 4
22. Some lengths are given in column | and some units are given in in column I1. (2)
Column | Column Il
1.Thickness of gold wire I. centimetre
2.Length of a saree ii. kilometre
3.Distance between Mumbai to Goa iii. milimetre
4.Length of a textbook iv. metre

Match the lengths with the units suitable for measuring those lengths.

23. Classify the given materials into magnetic and non-magnetic materials. (2

key, matchbox, iron nail, wooden scale.

24. Rohan participated in a marathon race. While running he felt less energetic and tired.

To overcome this he kept drinking glucose water. Why do you think a marathon runner
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drinks glucose water during and after a race? @)
25. Science is not about memorising facts and figures or doing experiments. It is about
following a step by step process that help us find answers to our questions. Write a
daily life situation where you feel someone was following a scientific method. (2)
26. Look at the images of a camel from the hot desert of Rajasthan and a camel from the

cold desert of Ladakh. What two differences you observe between them? (2)

27. Read the nutritional information given below for a packet of chips and channa

chaat shown here. Based on the nutritional information given below, which food

would you choose? Why? (2
Nutrional information (per 100gm) Nutritional information (per 100gm)
Potato Chips Channa Chaat
CALORIES: 289kcal CALORIES: 98kcal
FAT :18.5gm FAT: 0.6gm
SODIUM: 489mg SODIUM: 106mg
28. Name the following: (2)
a) Biggest Planet in the solar system b. smallest planet of the solar system
c. Coldest planet d) hottest planet of the solar system
29. Define compass. (2)
QI111 Answer the following (not exceeding 60 words) (3x8=24)

30. Maya saw deodar trees in Himalayas of Himachal Pradesh.
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Write three adaptations of mountain trees. 3
31. People across India eat diverse types of food, containing various food
components. Choice of food may vary according to the cultivation of food, culture
traditions and so on. The entire distance travelled by the a bag of wheat or any
other food item, from the producer to the consumer, is known as food miles.
Why reducing food miles is important? Give three correct reason to support your
answer. (3)
32. Rohini bought three identical metal bars from the market. Out of these bars,
two were magnets and one was just a piece of iron. How will she identify which
two amongst the three could be magnets( without using any other material)?
33. Mohan has a garden in which he has planted banana, hibiscus and rose. Draw a
well labelled diagram of leaves showing venation of banana and rose. 3)
34. How to measure the length if one end of the scale is broken? Support your answer
with the help of an example and calculate the actual length. (3)

35. Look at the diagram given below and answer the following questions:

WATER CYCLE.

a. Define Precipitation. Q)
b. Loss of water from plant’s body is called . (%)
c. Process involved in drying of clothes is . (¥2)
d. Pick and write two fresh water bodies from the diagram: Q)

Page 5 of 7



36. With the help of an activity, explain how will you make your own magnet? (3)
37. Give two examples of each linear, circular and oscillatory motion. (3)
Case based questions: Read the following paragraph and answer the

following questions ( question no 38 and 39 carries 4 marks each)

38. Plants can be classified into three categories: herbs, shrubs and trees. Plants with green
and tender stems are called herbs. They are usually short and may not have many branches.
For example- Tomato. Some plants develop branches near the base of stem. The stem is hard
but not very thick. Such plants are called shrubs. For example- lemon. Some plants are very
tall and have hard and thick stem.The stems have branches in the upper part, much above the
ground. Such plants are called trees. For example- mango. Plants with weak stems that
cannot stand upright but spread on the ground are called creeper, while those that take

support and climb up are called Climber. These are different from the herbs, shrubs and trees.

1) is an example of herb? (%)
(a) Mango (c) Pumpkin

(b) Tomato (d) Lemon

2) Plants that take support and climb up are called Creepers? (¥2)
(@) True
(b) False

3) Name the plant type, in which the stems have branches in the upper part,

much above the ground. Give one example. 1)
4) What kind of plants are called Creepers? (1)
5) Briefly explain with an example, what do you mean by “shrubs?” 1)

39. Several systems of units evolved with time in different parts of the world. However, when
people started travelling from one place to another, it created a lot of confusion. This led
to the different countries coming together and adopting a set of standard units of
measurements. The system of units now used is known as the ‘International System of
Units” or Sl units. The Sl unit of length is metre. Its symbol is m. For measuring larger
lengths, we use a larger unit called a kilometre.

1. Why hand span cannot be used as standard unit of measurement? Q)
2. Would it be convenient to use the unit metre to measure smaller lengths

such as the thickness of a page? 1)
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3. How do visually challenged students measure lengths? 1)

4. Convert 5m into mm. 1)
Q IV Answer the following questions in detail: (5x2=10)
40 a. In addition to the essential nutrients, our body needs dietary fibres. Why (2)
b. Water is essential part of our diet. Give reason. (2
c. What is fortification? 1)
41. Draw and label solar system . (5)

R R R R R R R R R R R R R R R R R R AR R R AR R R S S R R R R R R R R R R R R R R R R AR AR R R R R R R R R AR AR AR A R R AR R R
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Atomic Energy Education Society
Half Yearly/Term-1/PT-11 Examination : Practice Paper-I
Class: VI Duration: 3 Hours

Subject: Social Studies Maximum Marks: 80

General Instructions:

This paper is divided into two parts — Part A and Part B

All questions are compulsory.

Question no 1-20 are multiple choice questions carry 1 mark each.

Question No. 21-24 are very short answer based questions carry 2 marks each.
Question No0.25-29 are short answer based questions carry 3 marks each.
Question No. 30 -32 are case study based question carry 4 marks each.
Question No. 33- 36 are long answer based questions carry 5 marks each.

Question No. 37 is map skill based questions carry 5 marks together.

Part A
Multiple Choice Questions — Choose the correct answer. [1X20=20]

1) Latitudes are expressed in
a) Degree

b) Percentage

c) Minute

d) Ratio

2) Indian Standard Time (IST)is ——————— hours ahead of the local time at Greenwich
(called Greenwich Mean Time or GMT).

a) 25

b) 7.5

c) 55

d) 35

3) Which of the following is not a cardinal direction?
a) North

b) South

c) West

d) North-East

4) A piece of land which is surrounded by water on all sides is called
1
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a) Continent

b) Gulf
c) strait
d) Island

5) Indiahasmorethan small islands.
a) 1300
b) 600
c) 589
d) 300

6) ————— are landforms that are much higher than the surrounding landscape.
a) mountains

b) Plateau

c) plain

d) island

7) ———  mountain ranges are found in Europe.
a) The Alps

b) The Himalayas

c) The Andes

d) The

8 s the highest mountain peak in the world.
a) Mount Everest

b) Mount Aconcagua

c) Mount Kilimanjaro

d) Mont Blanc

9) — iscalled as the “storehouses of minerals”.
a) mountain

b) plateau

c) plains

d) valley

10) Yamuna and Ghaghara are some of the tributaries of river
a) Indus

b) Ganga

c¢) Gomati

d) Brahmaputra

11) Millennium isthe periodof — years.
a) 1000

b) 100

c) 10

d) 1
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12) Which of the following is not an archaeological source of history?
a) travelogues

b) tools and weapons

c) pottery and toys

d) coins

13) Rani of Jhansi was born in 1828. Which century did she belong to?
a) 19" century
b) 18" century
c¢) 16" century
d) 17" century

14) The Indian Constitution came into force in
a) 1950
b) 1947
c) 1952
d) 1949

15) Hiuen Tsang travelled from _— to India in the 7th century CE.

a) China

b) Greece

c) lIran

d) Persia

16) and Mohenjo-Daro , now in Pakistan, were the first two cities of this civilisation to
be discovered.

a) Harappa

b) Rakhigharhi

c) Dholavira

d) Kalibangan

17) A dockyard is found at
a) Harappa

b) Lothal

¢) Dholavira

d) Mohenjo-Daro

18) Rakhigharhi is situated in present day
a) Punjab

b) Haryana

c) Gujarat

d) Rajasthan

19) Geologists are the person who study about -
a) the physical features of the earth
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b) he remains of plants, animals and humans

¢) human societies and cultures
d) the past by digging up remains that people, plants and animals

20) — isIndia’s most ancient text .
a) The Upanishad

b) The Mahabharata

¢) The Ramayana

d) The Rig Veda

Part -B
Very short answer type questions -40 words [2x4=8]

21. What is an Atlas?

22. What are different components of a map?

23. What are the different Sources of History? State any two.
24. What were the ancient names for India? State any two.

Short answer based questions — [3X5=15]

25. State the cardinal directions and sub-directions.
26. Define the following terms —
a) Continent
b) Ocean
c¢) Island
27. How did early humans live? How did they procure the food and where did they live?
28. State any two reasons for the decline of Sindhu-Sarasvati civilisation.
29. Why did people travel to India from various parts of the world in ancient times?

Case Based Questions — [4X3=12]

30. Symbols are another important component of maps. Our map has small drawings of actual buildings
and a few other elements, but there would not be enough space on the map of a large city or a country
to draw them all. Instead, a symbol is used to represent these features — symbols for different kinds of
buildings (for instance a railway station, a school, a post office), for roads and railway lines, and for
natural elements such as a river, a pond or a forest. In that way, numerous details can be shown in the
limited space available on a map.

a) Why symbols are an important component of a map? [2]
b) Draw any two symbols of a map. [1]
c) Name few elements for which we use symbols. [1]

31. The first term, ‘Bharatavarsha’, clearly extends to the entire Subcontinent, and the text includes the
names of numerous rivers and peoples. ‘Bharatavarsha’ means ‘the country of the Bharatas’.
‘Bharata’ is a name that first appears in the Rig Veda, where it refers to one of the main Vedic
groups of people. In later literature, several kings named ‘Bharata’ are mentioned. The second term,

4
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32.

‘Jambudvipa’, means ‘the island of the fruit of the jamun tree’. This is indeed a common tree native
to India, also called ‘jambul tree’, ‘Malabar plum tree’, etc. ‘Jambudvipa’ came to mean the Indian
Subcontinent.

a)  What were the different rivers mentioned in Rig Veda? [1]
b)  How the country named as Bharata? [1]
c)  What does ‘Jambudvipa’ mean? How did it get the name? [2]

The mountain terrain is usually rugged or rough, and has steep slopes. This means that regular
farming can only be practised in some valleys. Cultivation is practised on slopes by cutting steps
into the slope, this is called terrace farming. In many mountainous regions of the world, herding is
the preferred occupation over agriculture. Tourism is often an important source of income for the
people living in the mountains. The crisp mountain air and scenic beauty attract many tourists.
Some tourists also go to the mountains for sports such as skiing, hiking, mountaineering and
paragliding. For many centuries, people have also travelled to these uplands for pilgrimages to holy
sites. But an excessive inflow of visitors can also put the fragile mountain environment under
pressure; it is often difficult to find the right balance.

a) What is a valley? [1]

b) How is cultivation practised in mountain and hilly region? Give one example of it[1]

c) Why tourism is an important source of income for the people living in the

mountains? [1]
d) Name some of the mountain sports which attracts tourist. [1]

Long answer based questions — [5X4=20]

33.

34.

35.
36.

37.

What is a Civilisation? Write down any five characteristics of a civilisation.
Or
Town planning is the unique feature of Harappacivilisation. Explain.
What is the difference between local time and standard time?
Or
What are the major types of landforms?Write down the significance to life and culture of any one of
the landforms?
What is a Map? Explain different types of maps.
What are coordinates? How can latitude and longitude be used to mark any location on the Earth?
Or
How is Time measured in History?Explain.

Locate the following in the outline map of India.
a) Lakshadweep Island
b) Arabian Sea
c) Lothal
d) River Indus
e) Ganga plains
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ATATT fA&r / General Instructions:

a. Attempt all the questions
b. Do not change question numbers.
c. Write the same question number against your answers.
d. Attach your map securely with answer book.
e. This question paper consists of 41 questions including the choice questions.
f.  Whereever choice is given write answer only for the questions you know the best.
g. This question paper consists of six sections.
h. Mark is mentioned against each question.
Multiple Choice Questions
Answer the following questions by choosing the correct option. (20X1=20)
1. Which of the following is a Cardinal Direction?
a) North b) North East c) North West d) South West
2. Name the map which shows natural features such as mountains, oceans, rivers, etc.
a) Political map b) Physical map ¢) Thematic map d) Atlas
3. What is the value of the longitude exactly opposite to the Prime Meridian?
a) 90° d) 180° b) 180° E d) 180° W
4. Russia has 11 time zones which means that travelling across Russia from east to west,
you will need to readjust your watch ------------ times to align with the local time.
a) 9 times b) 10 times c) 11 times d) 12 times
5. The largest water bodies on the globe are called as ----------------- :



a) Bays b) Gulfs C) sea d) Oceans
6. Which of the following is the smallest continent?

a) Antarctica b) Australia c) Europe d) South America
7. Name the largest island in the world.

a) Lakshadweep b) Finland c) Greenland d) Ireland

8. How many rings are there in the Olympic Symbol?

a) 4 b) 5 c) 6 d)7
9. Name the highest mountain peak in South India.

a) Anamudi b) Mount Blanc ¢) Mount Kilimanjaro d) Kanchenjunga
10. What do Tibetans call Mount Everest?

a) Khapa — Chan b) Sagarmatha c) Kailash d) Chomolungma

11. What is the nickname of the Tibetan Plateau?
a) Roof of the World b) Store Houses of minerals
c) Land of thousand Hills d) Land of Midnight Sun

12. What do we call the scholar who studies human societies and cultures from the oldest
times to the present?

a) Geologist b) Palaeontologist  c) Anthropologist d) Archaeologist

13. Name the first metal to be used by humans.

a) Iron b) Copper c) Silver d) Bronze
14. Millennium is a period of ------------- years.
a) 100 b) 1000 c) 10000 d) 11000

15. What is the meaning of Sapta Sindhava?
a) The land of the seven rivers b) The land of the seven lakes

¢) Land of Rainbow d) Land of seven stars

16. Which area is mentioned as Kurukhetra in The Mahabharata?



17.

18.

19.

20.

a) Assam b) Kashmir c¢) Uttar Pradesh d) Haryana
What do you mean by Jambudvipa?

a) Island of the Jamun tree b) Island of the Banyan tree

b) Island of the Peepal tree d) Island of the Mango tree

The term Hindustan was first used in a/an -------------- inscription.

a) Sanskrit b) Hindi c) Arabian d) Persian

Name the water tank which was built for public bath or religious rituals in Mohenjo-daro.
a) Great Bath b) Dholavira c) Lothal d) Citadal

Name the river mentioned in the text of Rig Veda which was worshipped as a goddess
and as a river flowing from the mountain to the sea and in the later texts describes as
drying up and eventually disappearing.

a) Ganga b) Yamuna d) Sarasvati d) Sindhu

Very Short Answer Questions

Answer any FOUR the following Questions within 40 words. (4X2=8)

21.

22.
23.

24,
25.

26.
27.
28.
29.
30.

What is the name of India’s own Prime Meridian and name the city through which it
passed?

Why do we need symbols and colours in the map?

What is the name of the Indian Research station in Antarctica? Write about the research
conducted by India here.

What are CE and BCE stand for?

How did Persians refer to India in their records and inscriptions?

Short Answer Questions
Answer any FIVE of the following Questions within 60 words. (5X3=15)
Why does the civilisation studied in the chapter-6 have several names?
What mind-set does the system of reservoirs at Dholavira reflect?
Explain how foreigners named India.
What are Plateaus? Give examples.

What are mountain ranges? Give two examples



31. What are islands? Give two examples from India.

32.

33.

34.

Case Based Questions
Read the following extracts and answer the questions: (3X4=12)
To measure longitudes, we need to define a reference point called the Prime Meridian. It
is also called Greenwich Meridian because, in the year 1884, some nations decided that
the meridian passing through Greenwich, an area of London in England, would become
the international standard for the Prime Meridian. It is marked as 0° longitude. Just as
latitude is a measure of the distance from the Equator if you travel towards one of the
poles, longitude is a measure of the distance from the Prime Meridian if you travel along
the Equator. Longitude, too, is measured in degrees. Westward or eastward, it increases in
value from 0° to 180°, with the letter ‘W’ or ‘E’ added. For instance, using round figures,

New York’s longitude is 74°W, while Delhi’s is 77°E and Tokyo’s is 140°E

a) What is the reference point defined to measure longitudes? 1 Mark
b) What is the value of Greenwich Meridian? 1 Mark
c) What is the difference between Longitude and latitude? 2 Mark

United Nations has designated June 8 as World Oceans Day to “remind us all of the major
role the ocean plays in everyday life. It serves as the lungs of our planet, a major source
of food and medicine and a critical part of the biosphere.” Scientific studies have shown
how the oceans are polluted by human activity — we throw several million tonnes of
plastic waste into the oceans every year, choking marine life. There are several other
forms of pollution. As a result, the marine environment is under threat. Overfishing
(excessive fishing) is another cause for the decline of marine life. It is our collective

responsibility to protect oceans for the future of the planet and of humanity.

a) Which day is observed as World Oceans Day? 1 Mark
b) What serves as the lungs of our Earth? 1 Mark
c) Give any two causes for the decline of marine life. 2 Mark

The Mahabharata uses the terms ‘Bharatavarsha’ and ‘Jambudvipa’. The first term,
‘Bharatavarsha’, clearly extends to the entire Subcontinent, and the text includes the
names of numerous rivers and peoples. ‘Bharatavarsha’ means ‘the country of the
Bharatas’. ‘Bharata’ is a name that first appears in the Rig VVeda, where it refers to one of
the main Vedic groups of people. In later literature, several kings named ‘Bharata’ are

mentioned.



35.
36.
37.

38.

39.

40.

41.

5

The second term, ‘Jambudvipa’, means ‘the island of the fruit of the jamun tree’. This is
indeed a common tree native to India, also called ‘jambul tree’, ‘Malabar plum tree’, etc.
‘Jambudvipa’ came to mean the Indian Subcontinent. In fact, we get a good clue from an
Indian emperor — Ashoka. In one of his inscriptions, he used the same name
‘Jambudvipa’ to describe the whole of India, which at the time included what is today
Bangladesh, Pakistan, as well as parts of Afghanistan.

a) What is the meaning of the word Bharatavarsha? 1 Mark
b) In which book the name Bharata appreared first? 1 Mark

c¢) According Ashokan inscription which areas are included in ‘Jambudvipa’? 2 Marks

Long Answer Questions
Answer any TWO of the following Questions within 120 words. (2X5=10)
What is a map? What are the components of a map? Explain each.
What are oceans? Explain the dangers and blessings of oceans.

What is a plateau? Why plateaus have been called ‘store house of minerals’?

Answer any TWO of the following Questions within 120 words. (2X5=10)
What are the different sources of history? Explain any five.
Why did people travel to India from various parts of the world in ancient times? What

could be their motivations in undertaking such long journeys?

Write a brief report summing up some of the achievements of the Indus-Sarasvati
civilisation.

Map Questions
On the outline map of India locate the following: 5 Marks

a. The Himalayas
b. Arabian Sea
c. Kanyakumari
d. Ujjayini

e. Delhi
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=T A% / General Instructions:

1. There are six sections in this question paper.

2. Section A consists of 20 MCQs of 1 mark each.

3. Section B consists of very short answer questions (21-30) of 2 marks each.
4. Section C consists of short answer based questions (31-35) of 3 marks each.
5. Section D consists of 2 case based questions.(36 and 37) of 3 marks each

5. Section E consists of long answer based questions (38-42) of 5 marks each.
6. Section F consists of map skill questions, (43) carrying 5 marks.

7. Fasten the map inside the answer booklet.

SECTION A
(Multiple choice questions) 1x20=20
1. The imaginary line running from north to south of equator is called
a) Latitude b) Longitude c) Axis d) Symbols
2. Which colour is used to show the plateau?
a) green b) brown c) yellow d) blue
3. Which is the deepest point in the sea?
a) Marina Trench  b) Molloy Deep  c) AkaJava d) Sandwich Trench

4. Name the local body which works in the rural area.



a) Municipal corporation b) Panchayats

¢) Wards d) Municipalities

5. Which continent is called an island continent?

a) Asia b) Europe c) Africa d) Australia

6. Which landform is suitable for doing agriculture?

a) Plains b) Plateau ¢) Mountains d) Islands
7. Is a true model of the earth.
a) Maps b) Globe ¢) Symbols d) Directions

8. A book of maps is called a

a) Conventional signs b) Atlas c) Globe d) Orbit

9. The neighbouring country to the north-west of India is

a) China b) Bangladesh ¢) Pakistan d) Srilanka
10. Which is the largest continent in the world?

a) Asia b) North America c) Antartica d) Europe
11. What type of food do we get from plants?

a) Milk b) Meat c) Fruits, vegetable d) Metals
12. Tsunami hit India and 13 other countries around the Indian Ocean on
a) 25" December b) 26" December

c) 28" December d) 30" December

13. One of the oldest civilisations of the world is

a) Mesopotamia civilisation b) Egyptian civilisation
¢) Indus Valley civilisation d) Chinese civilisation
14. Modern humans were known as

a) Floresman  b) Homo sapiens  ¢) Upright man d) Homo herbalist



15. Giving water to the plants is known as

a) Weeding b) Harvesting c) Planting  d) Irrigation
16. Dholavira had at least large reservoirs made of rocks and stone.
a) 6 b) 5 c) 10 d) 20

17. What is the main occupation of the people of living in rural areas?
a)Banking b) Business c) Farming d) Tailoring

18. The day to day change in atmosphere is called

a) Wind b) Climate ¢) Monsoon d) Weather
19. The highest mountain peak in south India is
a) Mt. Everest b) Mt. Kanchenjunga c)Anamudi d) Mt. Blanc

20. Name the river which drains into Arabian Sea.

a) R.Ganga b) R.Kaveri ¢) R. Indus d) R. Narmada
SECTION-B
(Very short answer type) 2x10=20

21. Name the south-east and south-west neighbouring countries of India.
22. What are the different types of map in an atlas?

23. What is latitude?

24. How many rings are there in an Olympic ring?

25. What is an Island?

26. Who was Bachendri Pal?

27. How did early humans live?

28. Which were the first two cities of civilisation?



29. On which river do we find Jog falls and Famous Hundru falls?

30. In which states do find Mohenjo-Daro and Harappa today?

SECTION -C
(Short answer based questions)
(Answer any three) 3X3=9
31. How many continents are there in the world? Name them.
32. Which colours are used in a map to identify the
a) water bodies b) mountains c) plains
33. What did the Harappans eat?

34. Name the Chinese pilgrim who visited India? What did he collect from
India?

35. What are the sources to know the history?

SECTION-D
(Case based questions) 3X2=6

36. Read the following paragraph and answer the questions:-

People have lived along the banks of river Narmada for several hundred

thousand years. Some of the earliest people who lived here were skilled gatherers, —
that is, people who gathered their food. These people knew about the vast wealth of
plants in the surrounding forests, and collected roots, fruits and other forest produce
for their food. They also hunted animals. Some of the areas where women and men
first began to grow crops such as wheat and barley about 8000 years ago are located
here. People also began rearing animals like sheep, goat, and cattle, and lived in
villages. These were some of the other areas where agriculture developed. The places
where rice was first grown are to the north of the Vindhayas.

1.) Name the river mentioned in the paragraph.

2.) Name the place mentioned in paragraph.



3) What occupation did the skilled gatherers practice?

37. Read the paragraph and answer the questions:-

Earth is the third planet from the Sun and the only planet to support life. About
29.2% of Earth's surface is land consisting of continents and islands. The
remaining 70.8% is covered with water, mostly by oceans, seas, gulfs, and other
saltwater bodies, but also by lakes, rivers, and other freshwater, which together
constitute the hydrosphere. Earth is also called blue plant as its % part is covered
by water. Earth atmosphere consists mostly of nitrogen and oxygen. More solar
energy is received by tropical regions than Polar Regions and is redistributed by
atmospheric and ocean circulation. Greenhouse gases also play an important role
in regulating the surface temperature. Earth’s gravity interacts with other objects in
space, especially the Moon, which is Earth's only natural satellite. Earth orbits
around the Sun in about 365 days and 6 hours. Earth's axis of rotation is tilted with
respect to its orbital plane, producing seasons on Earth. The gravitational
interaction between Earth and the Moon causes tides, stabilizes Earth's orientation
on its axis, and gradually slows its rotation. Earth is the densest planet in the Solar
System and the largest and most massive of the four rocky planets.

% ANSWER THE FOLLOWING QUESTIONS:
1. Name the gases found in the Earth's atmosphere.
2. Why is our Earth called “blue planet”?

3. Name the natural satellite of Earth? Write any one importance or impact of
it.

SECTION -E

(Long answer based questions)

(Answer any four) 5x4=20
38. Define the term:-
a) Geologist b) Palaeontologist
c¢) Anthropologists d) Archaeologist

39. Why did the Harappa’s returned to rural settlement?

40. Draw the important parallels of latitudes and label it.



41. Mark the following statement as true or false.

a) All parallels of latitude have same length.

b) The South Pole has a latitude of 90*s.

¢) The International Date Line is located approximately at 180*.

d) Australia is a white continent.

e) Smaller piece of land surrounded by water on all sides is an island.

42. Why it is 5:30 pm in India when it is 12 noon in London?

SECTION -F
(Map Skill) 1x5=5
43. On the outline map of the world mark the following:-
a) Africa b) Australia c) Asia d) Atlantic Ocean

e) Indian Ocean
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